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. EE %o 60.5 W=4.52(Kg/m) x1.32x 3.0= 17.90kg HHE(0.40x0.40%0.40) N=11. O A
) S EE %o 60.5 W=4.52(Kg/m) x1.62x 3. 1.97ke th#E V=0.40x0.40x0.40x 11.0=0. Tm3
= EBE MW 60.5 W=4.52(Kg/m) x1.92x 5. 13. 39kg
BE MES 27.2 W=1.41(Kg/m) x1.80x 10.0= 25.38kg
B8 =108. 64kg
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AH N40K
B V=4.0(&) x 0. 290 (t/m) /2.5 (t/n3)=0. 5n3
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AEHERE (m)
(B | @ u L2 L

@ 0.18 | 2.55 | 1.05 | 3.60

0.23 | 240 | 1.20 | 3.60

® 0.18 | 250 | 1.10 | 3.60

V=0. 09+0. 15+0. 09=0. 33
< LehER A, HEBTT.
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995 [l

995 308 x 38

308

224
W=17.0 (Kg/#%) x 94. 0=1598. Okg.
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ER L=94.6n
P68 V=046 (m) x0. 135 (t/m) /2.5 (t/n3) =5. In3
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K 1500 X
621 048 TEHER
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X
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VAl TIVAR2
ER H=1.04m, L=72. 8m R H=0.66m, L=(81.0+36. 0+13. 5+110. 0)=240. 5m
EBE MW 48.6 W=2.630(Kg/m) x4.06= 10.68kg EBE MW 48.6 W=2.630(Kg/m) x 3.68= 9. 68ke
EE %0 21.7 W=0.928(Kg/m) x0.88x 9.0= 7.35kg EE %6 21.7 W=0.928(Kg/m) x0.50x 9.0= 4.18kg
(IRAVER) NZRAVER)
EE At W=(10.68+7.35) x (72.8/1.5) =875. 06kg. EE At W=(9.68+4.18) x (240.5/1.5)  =2222.22kg
LiE 2
EK L=(13.5+36.0+110.0)=159. 5m
HEE  V=0.15x0.70x 159. 5=16. Im3
13, MM YEL 14, HP ¢ 250

SERIRN L, Y8 T (£ 100m)

MK L EHR (n2) | YIBFEERK (m)
#H 159.3 97.6
B 301.4 2.3
Er 460.7 99.9

EE L1550
A8 V=5.5(m) x 0. 066 (t/m) /2. 5(t/n3)=0. In3
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t=3mm

R 1-0.20%0.003x 1.0 7850 (ke) = 4. Tike
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t=3m

AW (ER) N=11.0F

ER ARSI L=3.905+1. 838+3, 764+0. 50+0. 50=10. 507m

ER EBAL 150.19%3.0=0.5Tm

ER EBRAS 1=0.19%1.0=0.19m

ER F R N2.0K

ER %D 150.25%2.0<0.50m

EE W=4.71(Ke/m) x 10.507+6. 59 (ke/m) x 0. 57+4. 24 (kg/m) x0.19
+0.76 (kg/#) x 2. 0+1. 36 (kg/m) x 0. 50=56. 26kg.

E4EEE  W=56.26x 11.0=618. 86ke

ER %DM 1=20.0x6.0=120.00n
EE HDWHM W=1.36(ke/m x 120.0=163. 20kg

i
iR

FDWAE 3x30x30

48 A=(3.905+1.550) x 20.0=109. 10n2
&4 W=2.60(Kg/m2) x 109. 10=283. 66kg

N9y h et E S W-618.86+163.20+283. 66=1065. 72kg.

ARESE L=20.20m
$RBE V=0, 14% 0. 60 x 20, 20=1. 70n3

EE W=0.28x0.003x 1.0 7850 (ke) = 6. 59kg

bi.gi2 Gl (m%Y)
H M3 FH
80 §
190
t=3mm t=3mm
EE W=0.18x0.003x 1.0x 7850 (kg) = 4. 24ke EE 1=(0.255+0.083)/2.0x 0. 19 x 0. 003 x 7850 (kg) = 0. 76kg
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